(& F I8 ) 141 20 ERESER
20224 11H22H

MG EFEMEFEEREZBAORBICONT

HWHHOEFMEFEHRRZRIZONT, KOLBYVREEITO Z &L L,

T2
' OE 2 # H H K £
AVAIVES VDEDY
B #2022 12 1|M® WUL I RS R )
5 Ok (IR TR
LR
% n&‘ é—:\ fﬁﬂ El .EE %
H o~ VRER VN
WIE| 05029 19 1 |FEE i K (RLUARSERERLGAEREFAR)
6 7 2 11H

BB, TrOiEElEE éécowfﬁ\&%ﬁT(2022&11ﬁ305>Ki@ﬁ&éhéo
ERE

Bk Ml LT (7 it et S )

1/ 2




W E 0Dy Folp X
N fE K BRI S B R BB EURR)
1972410H14H (505%)
(s R

197 24 [IRRFFTEEN

199 24 [LRURSIHRE S BAZE (VERT A ) T A A UMCET)
19964  FRERFREFHRE PR

199644 AP RIUTAIT

20024 HlSHREAL

(Z DD T EIMI72 &)

SR NE T ST IESS S

R Tt 1 kB
Hifn—2 1 —7 7 7Rt ERAER
LB HE AR NP T AR

21/ 2



F M OFE B = 0 X B M
2022. 12. 18L4E
B Eol ok | | o# | A | om | o
<t ge> <Hi FH> Bl 1t 77
Tk % B = LR I i = it
* it 2 A s it 1 1 2 2 3 1 1 1 1 12
P E 2 X = 1 1 2 1 1 1 1 1 3 11
%% PE ¥ 4 %o - E 4 4 2 4 2 2 3 4 2 23
% W% 1 Bmo¥ . % 1 1 1 1 3 1 2 0 2 11
NG - AL - BB 2 EE - Ak - 978 1 1 2 1 1 2 1 3 0 11
HE - HOE AR Y 2 HE - HOE AR - 2 2 2 1 1 1 1 1 2 11
~ A = N 3 ~ A = N 0 0 0 1 1 2 1 1 1 7
REGF
it 16 = 10 10 11 11 12 10 10 11 11 86 102
K 7 0% (BAk) 0 A R 7 0% (BAE) 0 0 0 1 0 0 0 0 0 1
60 1% 5 60 1% 4 3 4 3 2 1 3 0 3 19
50 ft 6 50 ft 2 3 1 2 2 5 3 7 4 27
40 fk 3 40 fX 3 3 3 4 5 2 1 3 1 22
30 ft 1 30 ft 1 1 3 1 3 2 3 1 2 16
20 1% 1 20 1% 0 0 0 0 0 0 0 0 1 1| &
oo E 52.7 DA I 53.1| 52.0| 49.2| 52.7| 47.3| 49.5| 48.2| 51.4| 50.7| 50.1| 50.5
( 11H) ZEEFHFE 50.6 %
( 12/) =EFEHFE 50.5 %
LS P 7N S lic 6 5 5 4 7 5 5 6 5 42| EF
R (%) 43.8 % R (%) 60.0| 50.0| 45.5| 36.4| 58.3| 50.0| 50.0| 54.5| 45.5| 48.8%| 48.0%
(1) EEEHES 49.0%
( 12) &EVHHE  48.0%




